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QUESTION 1

Which two are Data ONTAP commands for creating LUNs on a storage system? (Choose two.) 

A. lun create 

B. lun config 

C. lun make 

D. lun setup 

Correct Answer: AD 

 

QUESTION 2

You cannot remove the SyncMirror license if one or more mirrored volumes exist. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

Which statement correctly describes ALUA concepts on NetApp Storage solutions? 

A. ALUA is a LUN attribute that is set. 

B. ALUA deals with Fibre Channel LUNs and is NOT appropriate for iSCSI. 

C. ALUA can be used for Windows 2003 and Windows 2008 disk management. 

D. A LUN can be mapped to an ALUA-enabled igroup and a non-ALUA-enabled igroup. 

Correct Answer: D 

 

QUESTION 4

At which storage object level is deduplication enabled? 

A. Aggregate 

B. Volume 

C. Qtree 

D. LUN 
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Correct Answer: B 

 

QUESTION 5

In a Fibre Channel configuration, the host\\'s HBA is referred to as the ___________, and the storage system\\'s HBA is
referred to as the __________ . 

A. initiator, target. 

B. primary, secondary. 

C. secondary, primary. 

D. target, initiator. 

Correct Answer: A 

 

QUESTION 6

Which statement is true about single_image cfmode? 

A. Both nodes in the active-active configuration function as separate Fibre Channel nodes, and the LUN maps are not
shared between the partners. 

B. Both nodes in the active-active configuration function as a single Fibre Channel node, and the LUN maps are shared
between the partners. 

C. Both nodes in the active-active configuration function as a single Fibre Channel node, and the LUN maps are not
shared between the partners. 

D. Both nodes in the active-active configuration function as separate Fibre Channel nodes, and the LUN maps are
shared between the partners. 

Correct Answer: B 

 

QUESTION 7

An organization currently has a NetApp Fibre Channel, FCP block based solution. With limit budget and resources, they
want to create a new disaster recovery site that utilizes a NetApp solution. What would the optimal solution include? 

A. MetroCluster and NAS 

B. SnapMirror and iSCSI at the disaster recovery site for all hosts 

C. SnapMover and a single Fibre Channel HBA and switch at the disaster recovery site for all hosts 

D. single Fibre Channel HBA and switches at both locations using ftp to replicate storage 

Correct Answer: B 
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QUESTION 8

Which statement best describes the output of this command? sysstat -s 5 

A. Display the default output every five seconds and terminate after five counts. 

B. Display extended output every five seconds and print a summary after five counts. 

C. Display extended output every five seconds and print a summary upon termination. 

D. Display the default output every five seconds and print a summary upon termination. 

Correct Answer: D 

 

QUESTION 9

Which command displays the disk ownership for both CPU modules in a FAS2020 system? 

A. disk own -s 

B. disk show -v 

C. vol status -r 

D. disk display r 

Correct Answer: B 

 

QUESTION 10

Which three attributes would you specify when creating a LUN? (Choose three) 

A. The host operating system of the system attached to LUN. 

B. The version of Data ONTAP 

C. The size of the LUN. 

D. The path to the LUN. 

Correct Answer: ACD 

 

QUESTION 11

What are four storage efficiency features Data ONTAP 8.1 Cluster-Mode provides? (Choose four.) 

A. compression 

B. deduplication 

C. FlexClone 
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D. SnapVault 

E. thin provisioning 

F. transparent files 

Correct Answer: ABCE 

 

QUESTION 12

Which four statements are true about a node\\'s vol0 volume? (Choose four.) 

A. It cannot be moved with the volume move command. 

B. It contains RDB databases and log files. 

C. It is the most efficient place to store critical user data. 

D. It is not part of the namespace. 

E. One exists on every node in the cluster. 

Correct Answer: ABDE 

 

QUESTION 13

Which utility on Solaris 10 can be used to collect information about firmware and driver versions for a Qlogic
QLAxxx/QLExxxx HBA? 

A. EMutil 

B. SANutil 

C. cfgadmin 

D. SANsurfer 

E. HBAnywhere 

Correct Answer: D 

 

QUESTION 14

Which is NOT a reason to zone your fabric? 

A. increase network security 

B. reduce cross talk between ports 

C. limit the type of initiators used 
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D. limit the available paths 

Correct Answer: D 

 

QUESTION 15

What is the name of the SAN replicated database ring in clustered Data ONTAP 8.2 and later? 

A. SAN Configuration and Operation Manager daemon (SCOMd) 

B. Block Configuration and Operation Manager daemon (BCOMd) 

C. FC Configuration and Operation Manager daemon (FCOMd) 

D. LUN Configuration and Operation Manager daemon (LCOMd) 

E. None of the above. The SAN protocol does not have a database replication ring. 

Correct Answer: B 
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